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TauTOTNTEC

(a + B)2 = a? + 2ap + B2

(a-B)? = a’-2ap + B?

(a + B)® = a® + 3a?B + 3ap? + B3

(a-B)%=a’-3a?p + 3ap? -3

(a + B)(a-B) = a*-p?

2TO MABNUA AUTO XPNOLUOTIOLOUUE QUTEC TLC
TOLUTOTNTEC Yo va AUooupe tnv aoknon 11 oeA. 50.



AVon aok. 11a,pB ogA. 50
) (x-4)2+(2x+5)2 =x2—-2-4-x+4>+(2x)*+2-5-2x+ 52

=x?—8x+ 16 + 4x% + 20x + 25

=5%x2 + 12x + 41

B) (x2-1)2-(x2-3)(x2+3)=(x*)?—-2-1-x*4+1%—((x*)*-32)
=x*-2x*+1-(x*-9)
=x*—-2x*+1-x*+9

= —2x%>+10



Avon aok. 11y,6 oeA. 50

Y) x+y)?-(x-2y)(x+2y)+ (2x-y)*=
=x% 4+ 2xy + y* — (x* — (2y)%) + (2x)? — 2(2x)y + y?
= x% + 2xy + y? — X% + 4y? + 4x?% — 4xy + y*?
= 4x% — 2Xy + 6y*
§) (3x-4)2+ (3x+4)2-2(3x-4)(3x +4) =
=(3x)*—2-3x"4+4°+(3x)*+2-3x-4+4° - 2((3x)* — 4?)
= Ox* — 24x 4+ 16 + 9x* + 24x + 16 — 2(9x* — 16)
= Ox% — 24x 4+ 16 + 9x* + 24x + 16 — 18x* + 32

=16+ 16 + 32

= 64



Avon aok. 11g,0t ogA. 50

) (Ra+1)3+ R2a-132=Qa)+32a)*-1+3Q2a)1% +
+1°+2a)? —3Q2a)? -1+ 3Q2w)1% —1°

=8ua® +3-8a* +6a+1 +8a®>—3-8a* + 6a—1°
= 8a’ + 240* + 6a + 1 + 8a® — 24a® + 6a — 13
= 16a°> + 12«

oT) (a+2)>-(a+2)(a?2-2a+4) =
=3 +3-a’-2+3-a-22+2%—(a®+2°%)
= 4+6a°+12a+8—a>—23
=a’+60°+12a0+8—a°>—8

= 6a? + 12«



Avon aok. 11¢,n oeA. 50
0 (24 0)-(ar-a)’ =
= (a®)3 + 3(a®)?a + 3a?a? + a*—[(a?®)® — 3(a®)?a + 3a?a? — o]
= a® + 3a*a + 3a* + *—(a® — 3a*a + 3a* — o)

=af +3a° + 3a* + a®—a® + 3a°> — 3a* + o

= 6a° + 2a’

n M@a-1)32-aBa+1)Ba-1)=
= (40)3-3 - (40)? -1 + 3 -4a- 12-13- a(64a*- 1?)
= 64a®-3-16a% + 12a- 1- 6403+«
= 640>~ 48a’ + 12a- 1- 64+«

=-480% + 13a-1



